JOFRAN nc

ASSEMBLY INSTRUCTIONS &
PARTS IDENTIFICATION

MODEL # 2089 BLK

EROS BRUSHED BLACK
COFFEE TABLE

Parts Key Hardware kit (2089 BLKPO1)

No | Code Description Q'ty No Description Q'ty
1 |2089BLKPO2C Legs 4 pc. A @, Bolt 1/4"x 2" 8 pes.
, |2089BLKP54C Top 1 pe. . —
3 |2089BLKPO1F Floor glide 4 pes. (o) Lock Washer 1/4 pes.

c| © Flat Washer 1/4" 8 pes.
D [N Allen Key 1 pe.

MADE IN VIETNAM

Page 1 of 1




JOFRAN nc

ASSEMBLY INSTRUCTIONS &
PARTS IDENTIFICATION

MODEL # 2089 BLK

EROS BRUSHED BLACK

END TABLE
Parts Key Hardware kit (2089 BLKP01) 2 PACKS
No Code Description Q'ty No Description Q'ty
1 |2089BLKPO2E Legs 8 pc. A @, Bolt 1/4"x 2" 8 pes.
, |2089BLKPS4E Top 2 p. = s
3 |2089BLKPO1F Floor glide 8 pes. (o) Lock Washer 1/4 pes.
c| © Flat Washer 1/4" 8 pes.
D |93 Allen Key 1 pe.

MADE IN VIETNAM

Page 1 of 1




	AI 2089 3pk Model (1)
	AI 2089 3pk Model (1)



